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1. All questions are compulsory. O

4
1. Read the following passage and answer the questio @1 at the end.

Liberalisation in India, which began more than a de , has been proceeding
at a frantic pace. The implications for corporationgm
true of all vertical industry segments across tife Bpard such as banking, financial
services, airlines, transportaticn, telecom n facturing. One of the most far-
reaching implications in this liberalised @e
widespread use of state-of-the-art 1 on technology solutions. This is done
to gain strategic and competix tage vis-a-vis the past. It is worthwhile to

ia are significant. This is

ce globalised regime is the increasing

examine in some detail the of enterprises manufacturing systems for the

manufacturing indust il recently, manufacturers in India have been a
relatively sheltered 1 ith*the “licence raj” regime in the home market on the
one hand and lac beal as well as multinational competition on the other. In
the current cont%owever, this protection is being withdrawn in intermittent

doses by th

o

ion Government. Alarming though this may sound, this is both a
problem opportunity for Indian manufacturers with an cye towards growth
via the rnational market place. The problem is that suddenly they have to
c te against the best in the world, albeit in the local market. The opportunity
1 t if they successfully do so, nothing can really stop them from repeating this
success across the globe. It is apart that to achieve world class status, use of
latest information technology will be a prerequisite. After all. having world class
manufacturing processes, world class design processes and large local and export
market at the same time is of no avail if the organisation cannot produce the right

product at the right time and at the right cost. This would also enable them to
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market their products world wide using the latest information technology solutions.
Liberalisation then will cease to be a dreaded word.

i What is the impact of liberalisation in India? (2)

ii. AZ:cording to the passage, for which of the following industry segments, the
implications of liberalisation are significant? (2)

a) financial services

b) automobiles

c) airlines
d) transportation

iii. Why is it advisable for the Indian manufacturers to us st information
technology solutions? 2)

.
iv. What are the two most significant implications of L er%ation? (2)
- v. What is both a problem and an opportunity an manufacturers? Select
the appropriate option(s) (2)
a) The “licence raj” regime in the h rket and lack of global as well as

multinational competition.

b) Withdrawal of “licence raj: g,e in the home market and introduction of

liberalisation and globa@
¢) Use of latest info echnology solutions.

d) Non-use of I?HQ"aﬁon technology solutions.
2. i. Use the fonowi@

ds in meaningful sentences. (5)
Comfort zo@isabled; migrate; dead end; obsolete

i. Com he sentences as directed. &)

@ college principal could not changechis views on life (Correct and
write the sentence)

&. O °Neill said, “Some work in this area has been done before looking at
the weather forecast”, (rewrite in the indirect speech)

c. Industrial waste is a threat to the environment, (rewrite using ‘environmental’)

d. Harvard University is in USA. It is one of the best in the world, (rewrite
as one sentence using ‘which’)

e. To give and accept bribe is unethical (rewrite using gerunds)
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. It is believed that quality of life in big cities is better as compared to that in the

2

£

smaller ocnss. Compare the advantages of both and suggest v hich one of them is
& 55

better. You may give exaraples in support of your view point. (10)

4, Your company has recently launched a new low cost laptop in the market.
Assurhing yourself to be the Sales Manager of the company, Jraft a sales letter to
be sent to colleges/universities and other organisations to promote the sale of this
product. (15)

5. The Dean, Community Welfare Division, wishes to know whether the BITS
supermarket should stay open at night. For collecting the releva@ 300

customers were interviewed at random. The results of the survey arc @iveh below
in the tabulated form :

Table showing % response to the question: ‘Do you want thcg’e to stay open

at night?’ *
Age Group Yes No Don’t Know
10-15 43.5 3( 18.5
| 16-21 64.2 QO 6.5
22-30 54.5 +44.0 1.5
31-45 37. K@ 47.5 15.0
46-60 % 70.0 11.6

Now, as Research Qffi

CWD, to enable hi ake necessary decision in this regard. Invent the
necessary detaiI% (15)
QN
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